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	U3L2INV2
	How do we dilate figures in the coordinate plane?

	HW # 2

	Complete Handout    [2, 8  10, 11, 2]
                  QUIZ – TOMORROW! (Translations, Rotations, Reflections) 

	Do Now

	[image: image28.png]Explain why the transformation in Problem 1 (x, y) — (3x, y) is or is not a size
transformation.



Use the figure to the right to label …

· point A (the image of point T after 
[image: image1.wmf]xaxis
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)

· point B (the image of point T after 
[image: image2.wmf]yaxis
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)

· point C (the image of point T after 
[image: image3.wmf]yx
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)

· point D (the image of point T after 
[image: image4.wmf]90
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°

)

· point E (the image of point T after 
[image: image5.wmf]270
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°

)

· [image: image29.png]


point F (the image of point T after 
[image: image6.wmf]180
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point G (the image of point T after 
[image: image7.wmf]origin
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)



INVESTIGATION:  MODELING SIZE TRANSFORMATIONS (pg. 205)
My role for this investigation _________________________
[image: image30.png]preimage _ image
) Bx,y)




1.  
a.  ____________________
b.  On the coordinate grid below, plot the points X(1, 1), Y(5, 1), and Z(5, 5).  Draw 
[image: image8.wmf]XYZ

D

and its image under this transformation.  Label your image 
[image: image9.wmf]'''

XYZ

.
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c. ________________________________________________________________________________________

d.  How do you think the perimeter of 
[image: image10.wmf]XYZ

D

 will compare to the perimeter of its image?  Test your conjecture.

__________________________________________________________________________________________

How do you think the area of 
[image: image11.wmf]XYZ

D

will compare to the area of its image?  Test your conjecture.

__________________________________________________________________________________________

e.  Which of the figures II, III, or IV on the previous page could be the image of Figure I when transformed by the rule:  [image: image32.png](x, y) — (x, 3y



                          How do you know?
__________________________________________________________________________________________

Size transformation or dilation:  ______________________________________________________________
SCALE FACTOR:  You can describe a dilation with respect to the origin with the notation (x, y)
[image: image12.wmf]®

 (kx, ky), where k is the scale factor. 
2.  [image: image33.png]


                                                                    b.  Same qualities:  
                                                                           Similar qualities:  

Differing qualities:  _________________________________________________________________________

3.  a.  _____________________________________________________________________________________
b.  _______________________________________________________________________________________

c.  _______________________________________________________________________________________

d.  _______________________________________________________________________________________

e.  _______________________________________________________________________________________

f.  _______________________________________________________________________________________

[image: image34.png]


4.  a.  Use a ruler to draw lines through A and A’, B and B’, C and C’, and

D and D’.  Extend the lines to intersect the axes.  What do you notice about

The intersection of these four lines?

____________________________________________________________

f.  Complete the following statement:

[image: image35.png]IF O s the center of  size transformation with magnitude k and.
e imageorPis P ren 0P = ___ana %=




5.  Consider the size transformation with magnitude (scale factor) 0.5 and center at the origin.

a.  Write a rule for this size transformation ______________________

b.  [image: image36.png]



c.  How does the scale factor 0.5 affect the relation between lengths?  Between perimeters?

_________________________________________________________________________________________

d.  Find the area of the image quadrilateral.  Compare it to the area of quadrilateral PQRS.  How does the magnitude or scale factor of 0.5 affect the relation between areas?

_________________________________________________________________________________________

	Lesson Summary
	In this investigation, you explored properties of size transformations.
a.  [image: image37.png]Explain why the transformation in Problem 1 (x, y) — (3x, y) is or is not a size
transformation.




b.  
[image: image13.png]How are size transformations similar to rigid transformations? How are they different?







Math Toolkit Vocabulary:  dilations (size transformations), scale factor
Cholkar     MCHS     MATH II       ___/___/___         Name____________________________

HW # 2
1.  Find the image of 
[image: image14.wmf]GHI

D

 after a dilation with its center at the origin and a scale factor of 2.
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	2. [image: image38.png]


Find the image of JKLM after transformation 
[image: image16.wmf]1
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	3. Triangle A’B’C’is the image of ∆ABC under a dilation such that A’B’= 3AB. Triangles ABC and A’B’C’are
(1) congruent but not similar

(2) similar but not congruent

(3) both congruent and similar

(4) neither congruent nor similar



	4. Which transformation represents a dilation?
(1) 
[image: image17.wmf](8,4)(11,7)
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        (3) 
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(2) 
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	5. Under a dilation with respect to the origin, the image of 
[image: image21.wmf]P
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  What is the constant of dilation?
(1) -4         (2) 3        (3) 
[image: image23.wmf]1

3

         (4) 10

	
	

	6. The image of point A after a dilation of 3 is (6,15).  What was the original location of point A?
(1)  (2,5)                   (3) (9,18)

(2)  (3,12)                 (4) (18,45)
	7. Under a dilation where the center of dilation is the origin, the image of A(-2,-3) is A'(-6,-9).  What are the coordinates of B', the image of B(4,0) under the same dilation?
(1) (-12,0) 

(3) (-4,0)

(2) (12,0)

(4) (4,0)

	8. On the set of axes below, Geoff drew rectangle ABCD.  He will transform the rectangle by using the translation 
[image: image24.wmf](
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 and then will reflect the translated rectangle over the x-axis.

	[image: image25.emf]
	What will be the area of the rectangle after these transformations?

(1) exactly 28 square units

(2) less than 28 square units

(3) greater than 28 square units

(4) It cannot be determined from the information given.




Pg. 221 
[image: image39.png]‘Preimage and image pairs of a figure under cerain transformations
are shown below. The image figure is darker blue. In each case,
identify as precisely as you can the type of transformation. Then writ
a coordinate rule for the transformation.

a . b.
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Pg. 217

[image: image26.png]@  24BC has vertces as follows: A(1, 2), Bd, 4), and G, 6).
. Draw AABC on a coordinate grid. Then draw and label the image
of AABC under each of the following tansiormations.
“Translation with horizontal component 5 and vertical
component —4
Horizontal translation 7 units to the et

Translation that maps the origin to the point (3, —6)

b. Choose one of the image triangles In Part a and verlfy that it s
congruent to AABC.



[image: image27.emf]   
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